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A car accelerates from rest at a constant rate « for some time after which it decelerates at a
constant rate 5 to come to rest. If the total time elapsed is t seconds, the total distance
travelled is :

Options :
2ap 2

8643517561, (@ T P)

af .2

2(c 1
8643517562, 2@ T B)

.4&[_‘3
(o + B)

8643517563.

o B

4 (o 4
8643517564, * (@ TP

Question Number : 1 Question Id : 8643512521 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 8643512522 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A modern grand - prix racing car of mass m is travelling on a flat track in a circular arc of
radius R with a speed v. If the coefficient of static friction between the tyres and the track is
IL,, then the magnitude of negative lift F; acting downwards on the car is: (Assume forces on

the four tyres are identical and g=acceleration due to gravity)

&

Options :
Ii'2
Iﬂ.(—R | E";W
8643517565, 3 /
IJE
m| g R
8643517566. G
i
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m " y_}
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L
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Question Number : 2 Question Id : 8643512522 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

8643517565.
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Question Number : 3 Question Id : 8643512523 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Carnot’s engine working between 400 K and 800 K has a work output of 1200 | per cycle.
The amount of heat energy supplied to the engine from the source in each cycle is :

Options :

8643517569. )

8643517570, 1600 ]
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8643517571. 5200 J

8643517572. 1300 ]

Question Number : 3 Question Id : 8643512523 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

400K &2 800K 3 IS RoRFASFLDIWLS Forts [oRAT IORT INFIF) 20w
BEST 1200] 8B, TwES T FFOT ©ITOOT CPOTF, ATWTWDT ToDTZOD kD
BRI
Options :
8643517569, =00 ]

8643517570. Ll

3200
8643517571, - 200 )

1800 ]
8643517572.

Question Number : 4 Question Id : 8643512524 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A solenoid of 1000 turns per metre has a core with relative permeability 500. Insulated
windings of the solenoid carry an electric current of 5 A. The magnetic flux density produced
by the solenoid is : (permeability of free space =47 x10~7 H/m)

Options :

4 __
8643517573, 10w T

3
8643517574, 2* 107w T

wi| 3

8643517575.

8643517576, T |
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Question Number : 4 Question Id : 8643512524 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Q03T 1000 WETS FSTLOIT, 500 maﬁ-eﬂ m:_:gma: NgF S, BRoDT. ASTOTNY
ETTT ARNAR 5 A IRTTTIRN, BRIROMIT. MITCIT, WIHRT Toodead
PPTOT TOTBCIN : (ReeFS Tpe3TY Toodeoh mﬁ:ﬁoﬁ.-. = 47w x10~7 H/ m)

Options :

10-4g T
8643517573.

2x10-3¢ T
8643517574

By

.
8643517575.
8643517576,

Question Number : 5 Question Id : 8643512525 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A current of 10 A exists in a wire of crosssectional area of 5 mm? with a drift velocity of

2% 1073 ms~ 1. The number of free electrons in each cubic meter of the wire is

Options :

)
8643517577, 2x10
23
8643517578, 1 <10
5 25
8643517579, 625 %10

25
8643517580, 2% 10

Question Number : 5 Question Id : 8643512525 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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oxd denmg 2x107° ms ™! BRoOWLE, 5 mm® SFHD FITOIMT oD 030DY
10 AODFTRTY ©33BYD. 3080 T FI LTINS [0 2SFFNE F05,000

Options :
5 16
8643517577 =<1V

23
8643517578, 1 < 10

1= 125
8643517579, 022 *1U

125
8643517580, =< 10

Question Number : 6 Question Id : 8643512526 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A mass M hangs on a massless rod of length I which rotates at a constant angular frequency.
The mass M moves with steady speed in a circular path of constant radius. Assume that the
system is in steady circular motion with constant angular velocity w. The angular momentum
of M about point A is L , which lies in the positive z direction and the angular momentum of
M about point B is L. The correct statement for this system is :

Options :

L, and L are both constant in magnitude and direction
8643517581.

864351758, LA 18 constant, both in magnitude and direction
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LB is constant, both in magnitude and direction
8643517583.

Ly is constant in direction with varying magnitude
8643517584. g

Question Number : 6 Question Id : 8643512526 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| B Tod0L3 ToRT Hed M 20w T80, AT eI ITONBY RFToF
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mosdenzyy Ly ohed. =8 mémgpﬁ nOOIRT TePFOIL :

Options :

Ly &3 Ly nv0@e 30 Joxeee 08y OF™, Beodd
8643517581. o ® = .

Ly CI® 30 TOSHee DI OFN, BRoLT
8643517582. @ = 5

- | ! -\r{ = e = '.ﬁ -

2643517583, B ol AT mOTere WP LW, Teold

L., 030 A0 OB, BrodT), N300 TOTPe=), BROOT
8643517584, P - B W 5% )

Question Number : 7 Question Id : 8643512527 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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An AC current is given by [=1, sinwt+ I, coswt. A hot wire ammeter will give a reading :

Options :

8643517585. V2

Il | IE
I
8643517586, V2
%
\’I] | 12
8643517587, 2
R =
-1
8643517588, V2

Question Number : 7 Question Id : 8643512527 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AC Tz I=I; sinot+]; coswt Q0T FTREW. TT Tod YWD FTRBOD
DIOTNY
Options :
L+ I
.l
8643517585. &
L + 1,

8643517586, 282

8643517587.

8643517588.

Question Number : 8 Question Id : 8643512528 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A polyatomic ideal gas has 24 vibrational modes. What is the value of y ?

Options :
8643517589, 10:3

8643517590, 130

8643517591, 1-03

8643517592, 1-37

Question Number : 8 Question Id : 8643512528 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
WO LITTIRECOD SUIF =0y 24 oI SROONTTY, BROOTT y B HSohed ?
Options :
10.3
8643517589.

1.30
8643517590.

1.03
8643517591.

8643517592, 137

Question Number : 9 Question Id : 8643512529 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
When two soap bubbles of radii a and b (b > a) coalesce, the radius of curvature of common
surface is :
Options :
ab
[ Sl

8643517593.

ab
a+b

8643517594.
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8643517595.

8643517596.

Question Number : 9 Question Id : 8643512529 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a 3 b (b>a) SHAIDHT ARELT 2 TRYNH LOWNRBTIN LPYNY FBRT, We 0D DFT

%2‘6‘_;@ -
Options :
ab
8643517593, © @
ab

8643517594, @ + b

b—a
ab

8643517595.

a+ b
ab

8643517596.

Question Number : 10 Question Id : 8643512530 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A

- P A
A tria_ngula_r plate is shown. A force F = 44 “;*.J; is applied atpnf_nt P. The torque at point

P with respect to point ‘O" and ‘Q’ are :

Yi

> X
O
le——10 cmgﬂq
Options :
8643517597, — 15 —20¥3, 15— 203
8643517508, 15 + 2043, 15 — 2043

8643517599, 15 — 2013, 15 + 2043

2643517600, — 15 + 2053, 15 + 2043

Question Number : 10 Question Id : 8643512530 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
LOmD BRES POTIR, 3Rc0RT. P LIS e F = 4i - 3] wosd, Bodeenrs.

‘O @ Q' wombnenmorbemen P Romas PaEs)

Ya
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Options :

2643517597, — 15 — 2033, 15 — 2043

8643517598, 15 + 204/3, 15 — 2043

8643517599 15 — 2043, 15 + 2043

i
8643517600, 12 + 2083, 15 + 203

Question Number : 11 Question Id : 8643512531 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two identical metal wires of thermal conductivities K, and K, respectively are connected in
series. The effective thermal conductivity of the combination is :

Options :
Kq Ko
K; + Ks
8643517601.
' 2K4 Ky
Ky + Ks
8643517602.
K; + Ky
T
8643517603, 112
Ky + Ky
Kq Ko
8643517604.

Question Number : 11 Question Id : 8643512531 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Faen K; 0% K, Fmeds Mg BeoOT 0@ 200e Dedod deeX Iodnvm,
xosdong ToTsFIRAT. Toodeent OO POFTOTT WDFPFR)
Options :
Ky Ks
8643517601, 1 T K2
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2K; K>
8643517602. L
Ky + Ky

8643517603, =K1 K2

K, + Ky

8643517604, 1 K2

Question Number : 12 Question Id : 8643512532 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A boy is rolling a 0.5 kg ball on the frictionless floor with the speed of 20 ms~ 1. The ball gets
deflected by an obstacle on the way. After deflection it moves with 5% of its initial kinetic
energy. What is the speed of the ball now ?

Options :

8643517605, 1.00 ms~!

ri 1
8643517606, -+ mSs

1
8643517607, 1441 ms

1
8643517608, 19-0 ms

Question Number : 12 Question Id : 8643512532 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
BRBNBRY 20ms ™! £B[EQ 0.5kg B$0BROTI, PRFFH0LS S0T e LTV,
BOmW> 3T, WOONY 2O IHAIPNT. TYWT T0IT oW STOYT WBOTIBIOL JeB 5%
ORCY WORIW. wn © ols SenESw, ?

o] *

Options :
s l
8643517605, UV ™S
L 1
8643517606, ~+ ™S
1
8643517607, 1 +*1 ms
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8643517608, 1°-U ms

Question Number : 13 Question Id : 8643512533 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The thickness at the centre of a plano convex lens is 3 mm and the diameter is 6 cm. If the

speed of light in the material of the lens is 2 10%® ms 1. The focal length of the lens is

Options :

8643517609, S0 €m

8643517610, 15 cm

8643517611, 1= €m

8643517612, 0-30 cm

Question Number : 13 Question Id : 8643512533 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ATITO YOI WARTRROTT 0T TF 3 mm W, A 6cm SNT. WARTH TTPF TP

FYeT TR 2x1083ms~1 |HS, HRATT Monar TRTH)

Options :

8643517609, 20 €M

8643517610, 15 cm

8643517611, 1= cm

8643517612, 0-30 cm

Question Number : 14 Question Id : 8643512534 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which level of the single ionized carbon has the same energy as the ground state energy of

h}-‘dmgen atom 7
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Options :

8643517613, 1
4

8643517614

8643517615, ©

8643517616.

Question Number : 14 Question Id : 8643512534 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

DFBOIPRCTTLNLOTE BOMOT CIRET YUY JOTOSTY BOLRTT TTDBRENITRE IFOL,
BRODTET ?

Options :

8643517613, 1

8643517614. >

8643517615, ©

8643517616.

Question Number : 15 Question Id : 8643512535 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Two ideal polyatomic gases at temperatures T, and T, are mixed so that there is no loss of
energy. If F; and F,, m; and m,, n; and n, be the degrees of freedom, masses, number of

molecules of the first and second gas respectively, the temperature of mixture of these two

gases 18 :
Options :
.1"1F1T1 t na BTy
8643517617. 1M
n{T; + BT,
8643517618. i Et
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.anlTl { n2F2T2
I'I]_F]_ | I\ZFE

8643517619.

. n IT]. { I"ZTZ

8643517620, M1 T M2

Question Number : 15 Question Id : 8643512535 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TEOH IRLYD Ty DR T, w@@o&g‘gmﬁ DT BTIF a&&ﬁdﬁa%&ﬂ BRONTYR, NI
BRBCNT. T F RS F,, m, m&; m,, n m&; n, neh Sedese EE& oo@Ee
YONY FTOI]OINW, THANW W Ny ToLMwens, & HTD UMY WIed
Options :

T + BT,

8643517617. g ¥

. n IFI Tl { I"Iz F2T2
8643517618, F+5K

: 1 lFl Tl { I'IzeTz
8643517619,  Dif1 tnaky

.I'I}T]_ | I'Isz
8643517620, M1 T M2

Question Number : 16 Question Id : 8643512536 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For what value of displacement the kinetic energy and potential energy of a simple harmonic
oscillation become equal ?

Options :
8643517621, ¥~ T4

8643517622, ¥ =0
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PR — -+ ‘%
.‘l - _II';
8643517623. S
A
r= —
2

8643517624.

Question Number : 16 Question Id : 8643512536 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AOY MOMS BO[ON, 0IRD F?FFSEEE&E; WODTE DB TP, JEIND ATVTNTSS ?

o =& Bl <
Options :
8643517621, X~ T4
8643517622, ¥ =0
& + ‘%
.1 - _II';
8643517623. V2
r""L
e Lo
-
8643517624. =

Question Number : 17 Question Id : 8643512537 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The output of the given combination gales represents :

A

B

Options :
8643517625, AND Gate

8643517626, NOR Gate

8643517627, VAND Gate

18/89



3/17/2021

8643517628, NOR Gate

Question Number : 17 Question Id : 8643512537 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QERTHB MetrNe Fooleemoln IRE ST Retr'd ANF 3T, JTeFdWIT ?

A

B

Options :
/ ¥ g
8643517625, (ND Tiees

$ope
8643517626. PR

/ % g
8643517627, [VAND Tiees

£ g af
8643517628, \OR 11¢&3

Question Number : 18 Question Id : 8643512538 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An electron of mass m and a photon have same energy E. The ratio of wavelength of electron
to that of photon is : (¢ being the velocity of light)

(=)

¢ (2mF ]'1'5

it

A

Options :

8643517629.

8643517630.

._.
3
-
-
=]

8643517631.
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¥

1 ( E Y2

8643517632, € \2m)

Question Number : 18 Question Id : 8643512538 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘m’ Tod0D YITT W, PRI TIW wote dedad I§ E obd, Ieodd. adwnI

B0oMoZ0n wmmmIEdnodbn Fretas) @ (c ob U¥3s Sensonhd.)

(=)
\ 2m )

Options :

8643517629.
1/
¢ (2ZmE)"2
8643517630.
1 (znxwki
8643517631, ¢ \ £/
1 { B 135
8643517632, € \2m)

Question Number : 19 Question Id : 8643512539 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The vernier scale used for measurement has a positive zero error of 0.2 mm. If while taking
a measurement it was noted that ‘0" on the vernier scale lies between 8.5 cm and 8.6 cm,
vernier coincidence is 6, then the correct value of measurement is cm.

(least count=0.01 cm)
Options :

8643517633, 508 cm

8643517634, 8-26 cm

8643517635, 504 cm

8643517636, 5-36 cm
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Question Number : 19 Question Id : 8643512539 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BYSTRERL UTIRNIE IRFONT SRTTH) 0.2 mm IIW, FT BRJT[RCTBW, BROOT.
©¢E TN SVFORT® FRITS 07 P 8.5cm B, 8.6cm TDH ADZTD, See@BRYTONT,
DWOFoLT'E DRODTCIN 6 STT ©¥3od ROWIRT m—"a@é@ Py, - . ]

(827 ©¥2=0.01cm)

Options :

8643517633, 5-28 cm

8643517634, 5-26 cm

8643517635, 504 cm

8643517636, 5-36 cm

Question Number : 20 Question Id : 8643512540 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If an electron is moving in the nth orbit of the hydrogen atom, then its velocity (v,,) for the nth

orbit is given as :
Options :

v. x n2
8643517637. 1

(i
8643517638. "

8643517639. |

8643517640.

Question Number : 20 Question Id : 8643512540 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
BOLTT VOBPEVLT n 3 30DY BdWT ¥IWETT, n I8FoNY ©TT (v,,) Senzmy, Len

REBRAT
Options :

P E T
8643517637. ™

0. xn
8643517638. "

1

Un = —

8643517639. Z
1

U @ ;

8643517640.
Physics Section B

Section Id : 864351170
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351170
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 8643512541 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

& . 3 & " &
For VHF signal broadcasting, ___ km~ of maximum service area will be covered by

an antenna tower of height 30 m, if the receiving antenna is placed at ground. Let radius of
the earth be 6400 km. (Round off to the Nearest Integer) (Take  as 3.14)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

22/89
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100

Question Number : 21 Question Id : 8643512541 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

VHF Zode3 omd (8503m0e3)R, Ae30ms g odmam, Jo8 Hed maand, 30 m 2380
B0 NREEDTNOT SVTWITT N0 Aezmo DaedFsy km? graod Sx
6400 km R09. (BSTT Tersor 08F TREFRRIW[I) 7=3.14 20T IADELRZD.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 22 Question Id : 8643512542 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If 2.5 10 ~® N average force is exerted by a light wave on a non - reflecting surface of 30 cm?

area during 40 minutes of time span, the energy flux of light just before it falls on the surface
is W/cm? (Round off to the Nearest Integer)

(Assume complete absorption and normal incidence conditions are there)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 8643512542 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

40 RNH T N0 YRPODY TEFOIRRYE Shed ; QacroF 30cm? @hed B¢dT STonzm
251076 N I, ATeE0 womm, TodeeNATT, B9 Hed ; Ded ReDYTIOT ST
eT098 Bod TgeEy (F&F) . W/omk (BETT TREFVF 0T, TREVFNRPAT)T)
(RoTREF LeOBRWAT WP, ©ow TIFNT JWFOFRY 20T FOIA).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
23/89
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Text Areas : PlainText
Possible Answers :

100

Question Number : 23 Question Id : 8643512543 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Four identical rectangular plates with length, I=2 cm and breadth, b = cm are arranged

ka | L2

CIYER X _ - - e
as shown in figure. The equivalent capacitance between A and C is —2. The value of x is

. (Round off to the Nearest Integer)

d d d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 8643512543 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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&“DEEJ [=2 cm EE&“ e b= )

k3| W

2peDathadod Brelioond. A ::.:E;.;C nY IES Yo T

SPOF . (BLOT Demorosd IprorieeR)m)
A B C D
>
d d d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643512544 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

cm & T9W) 0T¢ IOTBT SO FOINYW, WBSTY

The equivalr_-nt resistance of series combination of two resistors is‘s". When the-}-' are connected

in parallel, the equivalent resistance is ‘p’. If s=np, then the minimum value for n is

(Round off to the Nearest Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 8643512544 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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‘s’ DO VTR BReFINWD ITHLYTNT IRWT Treerzmonds. ORNYI, FBROITIaN
BERRATRN, AVPT SRelm) ‘p’ SNE. s=np, ST n I 333% BSodn
(BETT Bprmor 08y, Frear RPRRYTR)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643512545 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A parallel plate capacitor whose capacitance C is 14 pF is charged by a battery to a potential
difference V=12 V between its plates. The charging battery is now disconnected and a
porcelin plate with k=7 is inserted between the plates, then the plate would oscillate back

and forth between the plates with a constant mechanical energy of pl.

(Assume no friction)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 8643512545 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
14 pF zoded3 C BRoODIT ADPOST TOF RTIT, mwnmﬁl 20T WO ROTWIFA
V=12V @a;mo:%d'u; sHdeieotonnd. ofdedrniogxs EREIODTY, BN SncTed B
k=7 @tha IpTTADT FOTIT, POINE S@E Fedad, To3C Ty _ pl
OIOSE FEA3RONN UMY TWH &OT [NOTW SOBRELIRAWIT.
(FHEFE T3 Q0 HORA)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :
26/89
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100

Question Number : 26 Question Id : 8643512546 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The radius in kilometer to which the present radius of earth (R =6400 km) to be compressed

so that the escape velocity is increased 10 times is ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 8643512546 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
LBpedd SenmEy, 10 B, FedFe Pgrdood NS 3 (R=6400 km) S, FOBWSRRTA

[

gedonToz Say km F’i*‘é-g PR - . I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643512547 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The angular speed of truck wheel is increased from 900 rpm to 2460 rpm in 26 seconds. The

number of revolutions by the truck engine during this time is
(Assuming the acceleration to be uniform).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 8643512547 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

26 Z3oazY B33 380 dneRcod wTJW, 900 rpm AOT 2460 rpm A Tesdonhd. I3
AODTY BFT Q0BT WA ::'os;'am
(A SeripednF TO[oDOT NRLAT)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643512548 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Consider two identical springs each of spring constant k and negligible mass compared to

the mass M as shown. Fig. 1 shows one of them and Fig. 2 shows their series combination.
o T :

The ratios of time period of oscillation of the two SHM is T}‘}*ﬁr = \.f'; , where value of x is

Fy a

(Round off to the Nearest Integer)

LELEL R DL

00000
00000

=
0000

Fig 1

Fig 2
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes
28/89
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 28 Question Id : 8643512548 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

WIWQ Jec0ATOF, wode ITTT SHTB WTVINYR, TEoIRoWT ALY TOF
k 03 Mod dpd TeedAmen QOFZRNIME OODT, BRoODF0Z TONIAD.
sRYrvdgon, Fig. 1 0 M oYrw 1068 IHNEYHYT, Fig. 2 0Q 30e0rd, 20m

SHM ritd 0mRostens ondr Fhods s bf =i, oud 1,3 B
SoTa

- (BETT TRTFOBE, TPREFNIRTRZYN)

LELLLEREL Y LEEL B f

D000
0000

B
0000

Fig 1

Fig 2
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 29 Question Id : 8643512549 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

The following bodies,

(1) aring
(2) adisc
(3) asolid cylinder

)
(4)

of same mass ‘m’” and radius ‘R" are allowed to roll down without slippf_ng simultanenusl}-'

a solid sphere,

from the top of the inclined plane. The body which will reach first at the bottom of the
inclined plane is

[Mark the body as per their respective numbering given in the question]

0 N

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 8643512549 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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3YNT TN

(1) 2.0m evorbT

(2) ot 2g

(3) ot T AD0TBT

(4) o FE feey N

2.003e T8 ‘m’ I w0Te I, ‘R W), LINRLCART YPYNYDR, 2omomD edpontos, 93
2ePTod YP0T TNBOTY PAT. QRWOT TWIOT CAZAD DV =SRTen Ienzba
SR

(T3,00Y IWIW, ARV F0LB0DT, HSR)

0 .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643512550 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Two blocks (m=0.5 kg and M=4.5 kg) are arranged on a horizontal frictionless table as

shown in figure. The coefficient of static fricion between the two blocks is E Then the

maximum horizontal force that can be applied on the Iarger block so that the blocks move

together is N. (Round off to the Nearest Integer) [Take g as 9.8 ms ™~ 2]
m
F
M —»

LEirge it B B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 8643512550 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ADIDE Prr 0L ey e BB B (m=0.5kgTHA M=4.5kg) H¥D, UIEY

- " - w ¥} - ¥ b 3 § . 3
3RC0ATVTOE BRBAW. Q0D DONY IWUT Ao PRFROD ATBMOTR) 7 Slateliatolr]

DR FWTO WOTFW, JedeeNd HTER DWNYD, 2l BOWHeE SRS NOF WOP
_Nehd. (3TE0T Temerosn®) (g=98ms 2 oomd 3RTDILRHT)
| m
F
M o

Vil DS A T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Chemistry Section A
Section Id : 864351171
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351171
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8643512551 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A central atom in a molecule has two lone pairs of electrons and forms three single bonds.
The shape of this molecule is :

Options :

planar triangular

8643517651.

8643517652, | shaped

8643517653, SCCSAW

8643517654, Tigonal pyramidal

Question Number : 31 Question Id : 8643512551 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2,00 @rdE Feofeod XTRIvEW HTB VTN Beed VSTIT YR, BROOW, DI TR
HTLOTNTR, TREFPT. T’ S0 U950 -

=

Options :

) o 3 SEpenodh
8643517651, 220 SBREVOD
8643517652, | O 000
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- | - —
A=

8643517653.

2BRCTOTOT LTNTS®
8643517654.

Question Number : 32 Question Id : 8643512552 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A colloidal system consisting of a gas dispersed in a solid is called a/an :
Options :

8643517655, aerosol

8643517656, Solidsol

8643517657, 1oam

8643517658, 5%

Question Number : 32 Question Id : 8643512552 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FIUQ LAVY TATR@INTIE IO ﬁ,_ﬁh:pca.“ﬁﬁ FOCRCRMRTR.
Options :

8643517655, =

8643517656, °F T

BT (Zpess’
8643517657, 00 (RPETF)

8643517658, ==

Question Number : 33 Question Id : 8643512553 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The absolute value of the electron gain c-nthalp}-' of l‘ualogens satisfies :
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Options :

8643517659, F > C1> Br > 1

8643517660, <1 > F > Br>1

8643517661, <1 > Br>F>1

8643517662, |~ Br>Cl1>F

Question Number : 33 Question Id : 8643512553 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

mé-if-;fzaafﬁﬂé QEWT NT Q0pPI0oR Tper ?Ju’a*“_LQ ROBOTIOMOTIT.
Options : -

8643517659. e

1>F > -2
8643517660, 1 > ¥~ Br>1

8643517661, <1 = Br>F>1

8643517662, 1> Br>Cl1>F

Question Number : 34 Question Id : 8643512554 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The point of intersection and sudden increase in the slope, in the diagram given below,

respectively, indicates :

0
_lm [l
‘!‘Cu - 03.,—'} E-C"JED
200
S,
5 gfe*fc' C+ 0,00,
S 1
'f. 1'4‘]_{;09 -':-"C.,
g _Em 'lc"o " F;,'}I'ﬂﬂ =g EEO
% 600 ﬂp*ou
9 700+ R
T -B800 -lfﬂPJ"’oa A
o T
900 A38 7
o .a—'r?-mg-o
1000 e+ O
1100~
1200 —
: L ' | I 1 I | | I
(W 400°C BOO°C 1200°C 1600°C 2O000°C.
273K 673K 1073K  1473K 1873 K 2273 K
—— Temperature
Options :
8643517663 AG < 0 and decomposition of the metal oxide
AC > 5 .
8643517664, AG > 0 and decomposition of the metal oxide
8643517665. AG =0 and melting or boiling point of the metal oxide
8643517666. AG =0 and reduction of the metal oxide

Question Number : 34 Question Id : 8643512554 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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$9808 8IBY Fhmen GeBT VoY W TR0 T DOTI T, ARBDIT ?

0
-100—
ACu + L 2cu.0
-200— =
QFe-
300D = llFG'YDH Aﬂ,—*m:

——> AG"/kJ mol” of O,
-L‘l 1
s =
|
]
)
»
c
L =]

-800[~ o307
900 e e
¥ ?.mgﬁ
1000 e+ O
1100
1200
| | l l | l l | I 1
0 400°C 800°C 1200°C 1600°C 2000°C
273 K 673 K 1073 K 1473 K 1873 K 2273 K

—— Temperature

Options :
i < a3y dn = e
8643517663, AC <1 DR, ALTT SFFT DPED
AG >0 =3 deemd «3 .78 OPxS
8643517664, J 5.
AG=0 ) SRt 83,78 TLod Fm LoD LOm
8643517665. io 4
i - T = o = e -
8643517666, YO =0 DB, CRTT ©F @' OTTRFE

Question Number : 35 Question Id : 8643512555 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The INCORRECT statement(s) about heavy water is (are)
(A) wused as a moderator in nuclear reactor
(B) obtained as a by-product in fertilizer industry
(C) wused for the study of reaction mechanism
(D) has a higher dielectric constant than water
Choose the correct answer from the options given below :
Options :
8643517667, () MY

8643517668, (D) Only

8643517669, (L) only

8643517670, (0) and (D) only

Question Number : 35 Question Id : 8643512555 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T HOT DOZN ITWT TegTo(Tiw)
(A) [RIoDT* DoIPFT® (53 MWI)NYY oTTOoIRN LwIIRENDOTW
(B) TARReyT Froodnvd wvE-evdH@men TWOohE:
(C) 3SWIoIT, YPATLL LOTOIRENZOZL
(D) 2T8 AWAHTRGE (VooRTNI) VODI0TYH 20N VPFTONT.
RERTH oRNYY TOCIRT WITI™, SOA.
Options :
(C) =33,

'

8643517667.

(B) =22

8643517668.

(D) 2,

8643517669.

8643517670. (B) &3.; Dy
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Question Number : 36 Question Id : 8643512556 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The correct order of conductivity of ions in water is :
Options :
~ + ! t coy
8643517671, €5 > Rb* >K* > Na

a s+ b &
g643517672. Nat >K* >Rb* > Cs

t =k —~_ + b
’643517673. K >Na® >Cs™ >Rb

8643517674, Rb* >Na® > K* > Li"

Question Number : 36 Question Id : 8643512556 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
VeORY LOIRENY ToTFSCL WOCTRT Tzhw.
Options :

f f f o+
8643517671, HEEL S BRI

at = t o t o y
8643517672, A’ > KT >Rb™ > Cs

b -t b b
8643517673, & > Na® >Cs™ >Rb

b ot b + <
8643517674, Rp~ >Na® > K™ >Li

Question Number : 37 Question Id : 8643512557 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following compound CANNOT act as a Lewis base ?
Options :

8643517675. 3

8643517676. i

8643517677. NF,
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5-—'1
8643517678.

Question Number : 37 Question Id : 8643512557 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TENTPINYY 009 AOoWTR) e TTwwoN FIFTRTD ?
Options :

CIF,
8643517675, -

PCI,
8643517676.

N 3
8643517677, -

551
8643517678,

Question Number : 38 Question Id : 8643512558 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the spin-only magnetic moment value (BM) of a divalent metal ion with atomic
number 25, in it's aqueous solution ?

Options :

8643517679. 3.0

o
8643517680, °+20

)
8643517681. R

8643517682, “€T°

Question Number : 38 Question Id : 8643512558 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TOB@en Fo3, 25 W, BROOT QROIRENTE Sremm BAiR®, 3T, BIeod WBDY
VoD DRWS TOFFR BN, POIWJIF 0w, (BM) Hewd 9

40/89



3/17/2021

Options :

8643517679, 20

5.26
8643517680.

5.92
8643517681.

=no a* = "1
8643517682, 0% (R

Question Number : 39 Question Id : 8643512559 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Potassium permanganate on heating at 573 K forms potassium manganate.

Statement Il : Both potassium permanganate and potassium manganate are tetrahedral
and paramagnetic in nature.

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

8643517683, both statement I and statement II are false

8643517634 Both statement I and statement Il are true

8643517685. Statement 1 is true but statement 11 is false

8643517686, Statement 1 is false but statement 11 is true

Question Number : 39 Question Id : 8643512559 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
YR QTR BewINY, DEBRNT.

s

El,

ewdl: FeERACDO JTRPENIEF, 573K I Fooamen BetTnAcDORRONHET ERTWID.
ewEIl: FpRAOHO JOIRENJCLT DB FLRACIDT JIRONBEETF CBR BRT
wBoghreliead HB) TTFcSoD FgeE BRODE.

£l

HeIT Beednoa, nabIn, S9N SodyivY TookRE ITHI, SOA.
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Options :

8643517683, |

8643517684, PLTE 1D TeeB IZO QWY
o [ E mm Ze

2643517685, =L T2 170 Tm), STWOTewE I STNT.

2643517686, LT 1STNT STOFewF 0 1T,

Question Number : 40 Question Id : 8643512560 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Reducing smog is a mixture of :
Options :

8643517687, oK fog and Oy

Smoke, fog and SO,
8643517688. 2

8643517689, —moke; fog and N,O,

8643517600, S oaNE EE R T, R — =D

Question Number : 40 Question Id : 8643512560 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BEAFEOD EAHPTYY VNG WBTNDB®
Options :
8643517687, T ey ke O

trTa TR = o,
8643517688, 2o SROED 2 SO,

8643517689 2Ts 0% T NyO;y

T-*l".‘ ‘1 —u, = o, e, 5
8643517600, s SN0 3 CH,=CH-CHO
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Question Number : 41 Question Id : 8643512561 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement I :  Retardation factor (R;) can be measured in meter/centimeter.
Statement Il : R, value of a compound remains constant in all solvents.
Choose the most appropriate answer from the options given below :

Options :

8643517691 Both statement I and statement Il are true
Both statement | and statement Il are false

8643517692.

8643517693 Statement 1 is true but statement 1l is false

8643517694 Statement 1 is false but statement 11 is true

Question Number : 41 Question Id : 8643512561 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

39N QU Tewdnvm, VeRT.

Beedl:  Jermoudmeee (Ry) reodemad, Q0eido’/Fotaneiio s SRTE SRBWITING.
Beef Il: o TINENYY BooWIT Re=SPOD A DRNToET.

3YNT SolIvY TOCIRT LLITIT, BORO.

Options :

Seedlohay Ieed Il Qsesonss.
8643517691. =

8643517692, = e

2o 1 50 90 <ot e 11 B0N0.
8643517693. -

Ze2d | 3N =dd 2eed 1130 3.
8643517694, w

Question Number : 42 Question Id : 8643512562 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Which of the following is an aromatic compound ?

Options : _
8643517695. :>
8643517696. :>@
8643517697. @
8643517698. S

Question Number : 42 Question Id : 8643512562 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FENT 0IRT FOCWTR) S IRBRLT SNT ?

Options :

| )

8643517695.
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8643517696.
8643517697.
8643517698.

Question Number : 43 Question Id : 8643512563 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

HISr

T e

(Major Product)

Product “A" in the above chemical reaction is :

Options :
Br
CH,
8643517699. :
Pr CH,
8643517700. CHy
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Br

O%CI )
Hy

Br

CH,

Question Number : 43 Question Id : 8643512563 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

8643517701.

8643517702.

WEQYOR FORORY YU, “A” ol

Options :
8643517699.
Br

CH,

8643517700. CHjy
Br
CHj,
Hy

8643517701.

46/89
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CH,4

CH;
8643517702.

Question Number : 44 Question Id : 8643512564 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 O"Na™

+ NaOH

k4

The above reaction requires which of the following reaction conditions ?
Options :

”,

8643517703, 023 K, Cu, 300 atm

8643517704, 272 K Cu, 300 atm

3643517705, 923 K, 300 atm

8643517706, /> K, 300 atm

Question Number : 44 Question Id : 8643512564 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Cl O~ Na®t

+ MNaOH >

2oedT §odN YTI LB FENT evTHND.
Options :

p23 K, Cu, 300 atm
8643517703.

8643517704, 9/2 K, Cu, 300 atm
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623 K, 300 atm
8643517705.

573 K, 300 atm
8643517706.

Question Number : 45 Question Id : 8643512565 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Mesityl oxide is a common name of :
Options :

i '} = g, 5
8643517707. 4-Methyl pent-3-en-2-one

8643517708. 4-Dimethyl pentan-3-one

2-N r T "
8643517709, = Methyl cyclohexanone

R643517710. 3-Methyl cyclohexane carbaldehyde

Question Number : 45 Question Id : 8643512565 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FENTYNTYY zuoz:'.ﬁ; i%%‘g‘ﬂiﬂﬁf QO TwPE, BATNG.

Options :

4200, Botr-3-3 —2-La*
8643517707. e

2, 4-T,e00,0F WokIeT -3-LuT
8643517708. e

8643517709.

3-0T,F LIRET/ECT Towrdexm, =
[} [ = = & [

8643517710.

Question Number : 46 Question Id : 8643512566 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Hoffmann bromomide degradation of benzamide gives product A, which upon heating with
CHCl; and NaOH gives product B.
The structures of A and B are :

Options :
®) 0
NH, NH,
CHO
Ko g =
8643517711, Br Br
NH, NC
8643517712.
NH, NH,
A — éj B — é)/fl 1O
8643517713. Br Br
NH, NH,

. i) B — ij/(ﬂﬂ
8643517714.

Question Number : 46 Question Id : 8643512566 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

aﬂoa::&:ﬁz:ém BT DT’ zfugfm&dmf HTTERED (ReW,CTFTE)NRPATON ACID YUSH,ToMRT0.
i — . o =

2T, CHA, 3 NaOH Se007 @i ev3d, B dedcnace. 3mhamn A &3 B

Ny owEne.

Options :
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8643517711. Br Br
NH, NC
. [::f::1 o [::f::J
8643517712.
NH, NH,
Br Br
8643517713,
NH, NH,
% @ B — @/LI O
8643517714,

Question Number : 47 Question Id : 8643512567 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O O

M . Ethylene Glycol
E'-](-‘"EHEI - - > A

v kg {Majm Pmduft}

The product “A” in the above reaction is :

Options :
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OH

i

O O

OCsH5

O
2l
OH

O

8643517715.

8643517716.

4

/ OCsHs

OH

8643517717.

O
S
O('le I5

8643517718.

Question Number : 47 Question Id : 8643512567 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
O O

Ethylene Glycol

»
H* -

OC,Hs

edT FobobQ wuIF, “A” oI ¢

Options :
N[')I I
O O
el
8643517715. OC2H5

51/89



3/17/2021

8643517716.

(:H'.le I

on

O
DX{})J\
OCoHs

8643517717.

8643517718.

Question Number : 48 Question Id : 8643512568 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following reaction is an example of ammonolysis ?
Options :

s643517719, C6s-OCI+CHNH, 5 CH,CONHCH,

CHCH,CN _Ml . C,H.CH,CH,NH
8643517720, ~oBARRei sk s R SRR B S A

2613517771, osetpCl+ NHy —— GHCH,NH,

8643517722. CeHsNH, Hd , CH;NH;Cl

Question Number : 48 Question Id : 8643512568 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FPNTINYY odoa Fohodw (wEBReAONETHR) YRRBRIATT YWIHVETRE ST 9
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Options :

C.H.COCI+C.H.NH, ___, C.H.CONHC H
8643517719. © ° B = =

C.H.CH.CN _ Ml . C H.CH.CH.NH
8643517720, © 2 2 A s

CH-CH,Cl+ NH; — 5 C,H.CH,NH
8643517721, © 7 2 T e k]

8643517722. CgHsNH, _HA . CH;NH;Cl

Question Number : 49 Question Id : 8643512569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

With respect to drug-enzyme interaction, identify the wrong statement.
Options :

Competitive inhibitor binds to the enzyme’s active site
8643517723, F )

8643517724. Allosteric inhibitor changes the enzyme’s active site

8643517725, Allosteric inhibitor competes with the enzyme’s active site

8643517726, Non-Competitive inhibitor binds to the allosteric site

Question Number : 49 Question Id : 8643512569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
BRP-2037 (863) £03TZoDA TOWORATOS, SWHTLT Te9d FORELBOWD.

Options :

- s, = =t ) J_“n.-' - -‘\ 2 =, 5.
seans177yy ST 0D DBRETEY) $837 $0IRIZ MITH, LRIDHT:

©ERcA0T ATRGER 303 30iRIT M THT, WHEURORNITHT.
8643517724, = e o C 0w Sra pte Rl Gy

=) = o ~ P TR,
8643517725, SOREALOT DTRTED 635 F0IR MITROLA IRFATHT.

= ,Féewmbm Fatetrlgnt. e::@r-s cOF & 'iﬁ cotiBRh .
8643517726, 27" Sl R g %" 3
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Question Number : 50 Question Id : 8643512570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the foﬂnwmg is correct structure of tyrosine ?

Options :
COOH
H,N % OH
8643517727.
COOH
H,N 5
OH
8643517728.
COOH
H,N H
OH
8643517729.
COOH
H>N H
OH
8643517730.

Question Number : 50 Question Id : 8643512570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FPNIPYNTY CIpTL LBTReATT BOWRT TIoiRNT ?

Options :
54/89



3/17/2021

COOH

H,N

8643517727.
COOH
H>N H
OH
8643517728.
COOH
H,N H
OH
8643517729.
COOH
H,N H
OH
8643517730.
Chemistry Section B
Section Id : 864351172
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes

Sub-Section Number : 1
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Sub-Section Id : 864351172
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 8643512571 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mole fraction of a solute in a 100 molal aqueous solution is %1072
(Round off to the Nearest Integer).

[Given : Atomic masses : H: 1.0 u, O : 16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 51 Question Id : 8643512571 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

100 Beegee® xdeod HNRDYOD mRT WS ©03FH x10~2 (FaoeTT
TRTFOT)

[G2 : =oSm®eew TodN : H:1.0u, 0:16.0 u]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 52 Question Id : 8643512572 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The pressure exerted by a non-reactive gaseous mixture of 6.4 g of methane and 8.8 g of
carbon dioxide in a 10 L vessel at 27°C is ~ KkPa.

(Round off to the Nearest Integer).

[Assume gases are ideal, R=8.314 | mol 1 -1
Atomic masses : C:120u, H: 1.0 u, O: 16.0 u]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
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Text Areas : PlainText
Possible Answers :

100

Question Number : 52 Question Id : 8643512572 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

27°C 39 10 De. TZ0DY 64 MBF T, WFeT® DA 8.8 MIFIW, PWFT BuE @
800RT0LE UAONY NIPRFY YOLNDTRED WIBH) kPa. (R0eID TRFHoFOT)
[@Ronsh @3S0 Fodd, R=8.314Tmol "1 K1

To0=weN TN :C:120u, H:1.0u, O :16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643512573 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A certain orbital has n=4 and m; = 3. The number of radial nodes in this orbital is

. (Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 53 Question Id : 8643512573 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2000 Q&3 EEEQ n=43 m; =3 m% 2RODT. E’EE’C&Q&I:’ S eonTT Bombne
X03,000 . (RENCTT TRISIF OF)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

100

Question Number : 54 Question Id : 8643512574 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

I and

The standard enthalpies of formation of Al,O; and CaO are — 1675 k] mol
635 k] mol ~! respectively.

For the reaction

3Ca0 + 2Al — 3Ca + Al,O; the standard reaction enthalpy A HY= KJ.

(Round off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 54 Question Id : 8643512574 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ALO; & CaO Ny TToeees (8F) 3RO <oIN® Feeh — 1675 k] mol Ia3ad

635 k] mol ~1 ghas

=i fewlyl
3Ca0 +2A1 — 3Ca + AL O; 7 (Teees) $0Im 20O AHY= K]. (BenexT
TRTOFO0T)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643512575 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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The oxygen dissolved in water exerts a partial pressure of 20 kPa in the vapour above water.
The molar solubility of oxygen in water is %x107> mol dm 2.
(Round off to the Nearest Integer).

[Given: Henry’s law constant = K;;=8.0 x10* kPa for O,.

Density of water with dissolved oxygen = 1.0 kg dm 3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 55 Question Id : 8643512575 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

S3RT LIeIRROB 20T ed 00 IRT ©0dT wIWR) 20 kPa SN,  VOTY CIRTT
BReRT LDeT30in x 1072 mol dm ™3, (MNeTT TRTFOT)

[33 : Bpod dobhI VoHTOB = K,y =80 10* kPa O, A [BHI.

nT D9eadolnolnt 2e0d Towdodw = 1.0 kg dm 3]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 56 Question Id : 8643512576 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
0.01 moles of a weak acid HA (K, =2.0x10"9) is dissolved in 1.0 L of 0.1 M HCI solution.
The degree of dissociation of HA is %1072 (Round off to the Nearest Integer).
[Neglect volume change on adding HA.
Assume degree of dissociation <<1]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100
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Question Number : 56 Question Id : 8643512576 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

0.01 Beecnvm thwre o) HA (K,=20x107°%) == 1.0 L & 0.1 M HCl me=nsg
LDOcmnRYInG. HAT Qoiscxmmodm) x 107> (Re0eTT Tersor 0F)
[HAZcOmRPTOCT MSTO0D WHCHBHEODT, BOFR0. D03RHT0TH) <<120T FoRO.]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 57 Question Id : 8643512577 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

15 mL of aqueous solution of Fe?* in acidic medium completely reacted with 20 mL of
0.03 M aqueous C rz{',}%_. The molarity of the Fe?* solution is %x10~2M. (Round

off to the Nearest Integer).

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 57 Question Id : 8643512577 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Fe?* ¥ wipeod Sgmd 15mLadecd mpEeam, 20mL & 0.3 Mixdeod C;-zmg'i*:oi‘:ﬁ

L33 BTONRTICRNG. Fel* tomeods Speendidonn %10 =2 M. (BE0ETT TTTFOT)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100
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Question Number : 58 Question Id : 8643512578 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For a certain first order reaction 32% of the reactant is left after 570 s. The rate constant of
this reaction is %1073 s~1. (Round off to the Nearest Integer).

[Given : log;;2=0.301, In10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 58 Question Id : 8643512578 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

2000 RS2 TP TdF Fohrmeh, 570R50T NS SToERoR Te3T 32% SoiRTOTRY) VYOI,
& gohod Herl RohToosH) x1073 7L (Rnedd Temoros)
[G2 : log)p2=0.301, In10=2.303]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 59 Question Id : 8643512579 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction of white phosphorus on boiling with alkali in inert atmosphere resulted in the
formation of product “A’. The reaction of 1 mol of ‘A" with excess of AgNO, in aqueous
medium gives ____ mol(s) of Ag. (Round off to the Nearest Integer).

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100
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Question Number : 59 Question Id : 8643512579 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

27°C3Q 10 O¢. TZ0DY 64 MRF T, WFPe® DI 8.8 MITFIW, Bwrd Bud &°
300RTLE YAONY WIPRTY YLOINTRED WIBH) kPa. (ZiReTT TRTVFOT)
[@Ronsh sadrRomd oo, R=8.314Tmol "1 K™

To0=wen TdNw :C:120u, H:1.0u, O :16.0 u]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643512580 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

NO,

HNO,4
H,S0,

L.
I il

In the above reaction, 3.9 g of benzene on nitration gives 4.92 g of nitrobenzene. The
percentage yield of nitrobenzene in the above reaction is %. (Round off to the
Nearest Integer).

(Given atomic mass: C: 120u, H:10u, O: 16.0 u, N : 14.0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 60 Question Id : 8643512580 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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NO,

HNO,
H,S0,

-

a0eds 3odonQ, 3.9 MeEr womes §i

E)
oy —

%, (REXCTT TRTOFOT)

D H5R0I0BET'T SeTEHOT YLIVTHOI
(d% : WO=SoEN Todned : C:120u, H:1.0u, 0:16.0 u, N:14.0 u)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Mathematics Section A
Section Id : 864351173
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351173
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8643512581 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(80T 492 TRRT FHARLIORT DB, F0DODY
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In a school, there are three types of games to be played. Some of the students play two types
of games, but none play all the three games. Which Venn diagrams can justify the above

statement ?

P Q R
Options :
8643517741, L and Q

8643517742, L and R

8643517743, 2 and R

8643517744, 1Nore of these

Question Number : 61 Question Id : 8643512581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
200 FododY TR AFNY SWNYDZ, SWT]T. ©TTY 0P LWPFNHR AT WAoH
SUTRRT]T. STC IR AT QTR PRV SUNTTRDDOY. TIT IFNT IRD
ST TFod HedT Bewdob, TETOMWIT.

Options :

Paa Q
8643517741. =

8643517742. J ey R
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8643517743. Q ey R

8643517744, CHRRTR DY

Question Number : 62 Question Id : 8643512582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The area of the triangle with vertices A(z), B(iz) and C(z +1iz) is :

Options :

M=
i ]
-
]

8643517745.

8643517746.

Eypy

8643517747.

(=1

8643517748.

Question Number : 62 Question Id : 8643512582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A(z), B(iz) 3 C(z +iz) JONNWE SI08RT QAR

Options :

% r 4 EE’z
8643517745, <

N
8643517746, 2

1

2
8643517747, 2
8643517748, |
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Question Number : 63 Question Id : 8643512583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A

. (0 SINa ' (o \ i
It A=, and do_t| A —I | =0, then a possible value of « is :
| sIne 0y L 2 )

Options :
i)

8643517749, 4
s
3

8643517750.
ao

8643517751, ©

SIER

8643517752.

Question Number : 63 Question Id : 8643512583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
| [ 0 sine )
\ =

) : :
| 3 det [A2 - LI =0, 838 o8 g 36
S1No []) = | . o

=

h,

Options :

o
8643517749, 4
. 1
8643517750, 2
1

8643517751, ©

Sk

8643517752.

Question Number : 64 Question Id : 8643512584 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The system of equations kx+y+z=1, x + ky+ z=k and x + y + zk=k> has no solution if k is

equal to :
Options :

8643517753.
8643517754.

8643517755.

8643517756.

Question Number : 64 Question Id : 8643512584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
kxt+y+z=1,x+ky+z=kadI x+y+zk=k? 202 TWeITNY ogfsy oIRTe TOZTII
BRroDHOOBTDT kon S :
(3 a2
Options :

8643517753,

8643517754, 1

8643517755.

2
8643517756.

Question Number : 65 Question Id : 8643512585 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Team ‘A’ consists of 7 boys and n girls and Team ‘B’ has 4 boys and 6 girls. If a total of 52
single matches can be arranged between these two teams when a boy plays against a boy

and a girl plays against a girl, then n is equal to :
Options :

2
8643517757. ~
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8643517758. 4

8643517759. 3

8643517760. 2

Question Number : 65 Question Id : 8643512585 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘AT ThoLTY TEWND DR nWEWNARD Tone B hoddD 4@ @) 6 m@NoDOTRT.
QTRERL MOLT FDSH IENW TENO erﬂf DN TEHoLT ;‘E:% TOTNTT, ST
2.4 5208 TOTNYD), B8 IOENY I@HT SCIRBIRNAZT nd LS :

Options :

)
8643517757. ~

8643517758, *

=

8643517759. -

8643517760. 0

Question Number : 66 Question Id : 8643512586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the fourth term in the expansion of (x xlogy %7 is 4480, then the value of x where x € N is

equal to :
Options :
8643517761, 1
)
8643517762, =
8643517763,
4
8643517764
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Question Number : 66 Question Id : 8643512586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(x+ 282 %7 700 Tede TP 44808TT xe Namen xS 30w :
Options :

8643517761, 1

8643517762, 2

8643517763, -

8643517764, +

Question Number : 67 Question Id : 8643512587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of 4 4 is :
1
5 4 g
4 4 )
5 4
44 ... s
Options :
.
2 30
8643517765. ]
2+ % 30
8643517766, V5
5+ 2./30
8643517767. 3
4+ 2 30
8643517768. Vo

Question Number : 67 Question Id : 8643512587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1 L
4 A : ob BSodn -
5 4 .
14 -
5 4
4+ ... o
Options :
' )
2 + Z.J30
8643517765.
2+ 2 /30
J5
8643517766.
' 2
5+ .30
8643517767. 5
4 4 iq“ﬁ
J5
8643517768.

Question Number : 68 Question Id : 8643512588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If cot~1(a)=cot~12+cot 18 +cot~118 + cot— 132 + ..... upto 100 terms, then « is :
Options :

8643517769, 100

8643517770, 1-01

8643517771, 102

8643517772, 1-03

Question Number : 68 Question Id : 8643512588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

cot~{a)=cot =12 +cot =18+ cot~ 118 + cot ~132 +..... 100 TENSET a @ &3S
Options :

8643517769, 1-00
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8643517770, 1.01
8643517771, 1-02

8643517772, 1.03

Question Number : 69 Question Id : 8643512589 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The inverse of Y= 5logx g -

Options :
1

x = 51°8Y

8643517773.
i

s 'l.l"]UES
8643517774. z

x=5logy
8643517775.

x :y]”ES
8643517776.

Question Number : 69 Question Id : 8643512589 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y=>5l8T 3 FeSpead)

Options :
1
x = 5189
8643517773.
1
x=y o5
8643517774. ‘
x = 5logy
8643517775.
- — 1/l0g5

8643517776. ~ Y
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Question Number : 70 Question Id : 8643512590 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

i cos ™} f:L [1]2] . sin” ! x [I]E]
3 - , where [x] denotes the greatest

The value of +
x—0 S

intc-gc-r =x 1s:
Options :
e
4
8643517777.

8643517778, 0

SER

8643517779.

8643517780.

Question Number : 70 Question Id : 8643512590 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
~1{. g2 . ei—11 .. g2 |
. . _ im €08 lx —[x]¢) - sinTM (x - [x]¢) _
Temoros = sho, Hml Clnd R G =
o x—0 & Ifi

[x] @00T> NOF TWw

Options :
-
8643517777. 4

8643517778. U

bl

8643517779.

8643517780. ™
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Question Number : 71 Question Id : 8643512591 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is incorrect for the function g(«) for « € R such that

sin“x

dx

gla) =

cos®x + sin™x

0o ey

Options :

g(w) is a strictly increasing function

8643517781
2643517782 g(w) is a strictly decreasing function
1
g(a) has an inflection point at « = >
8643517783.
g(a) is an even function
8643517784.

Question Number : 71 Question Id : 8643512591 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ae Raman gla) = dr =338 g(w) IFE Howohamod FEAT ol
e cos®x + sin®x w &

x>
']~ sin“x
I
3
TePInsd TohY.
Options :

264351771, S(0) SOWTR dAe0RTRN FQIT COITFNT.

g(o) Q0LNT SAcohzoN FeedRT GIT NS,
8643517782. © = = B

glo) a=- - 20w ISTOTSFT WOWTTY, TROVT.
8643517783, =

glo) ROWTR T YT FTONT.
8643517784.
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Question Number : 72 Question Id : 8643512592 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following is true for y(x) that satisfies the differential equation

d
f=xy 1+x—y;y(0)=0:
Options :
1
B —e 2 =1
8643517785.
' 1
y(l) =e2 — 1
8643517786. v
1 S |
(1) =e?2 —e 2
8643517787. yd)

8643517788, Y =1

Question Number : 72 Question Id : 8643512592 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i .
y(x) 2020V gj =ay —1+x —y Q0L YPTOT AeRCFORDW, SJTRWIT, @90 y()=0

% &l

S00 FPNT 03RPHT RO CIRHT ?

Options :
il
yWl)=e 2 =1
8643517785.
sk
(1) = e
8643517786. y
1 e §
y(1) =e2 —e 2
8643517787. U

y(1)=1
8643517788.

Question Number : 73 Question Id : 8643512593 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1
In a triangle POR, the co-ordinates of the points P and Q are ( — 2, 4) and (4, —2) respectively.
If the equation of the perpendicular bisector of PR is 2x — y+ 2=0, then the centre of the
circumcircle of the APOR is :
Options :

8643517789. (1, 4)

8643517790. . 2)

(-10)
8643517791.

(=2, -2
8643517792.

Question Number : 73 Question Id : 8643512593 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& PORIY P a3 QRomIT JTer ITNsd BN (2, 4) D) (4, —2) SN,
2x—y+2=0202 FWesT) PRT ©0wmegiFs=etl, APQRS T0S3IT FeoT)
Options :
8643517789, 1+ #)

8643517790, (0- 2)

(-1, 0)
8643517791.

(
8643517792.

Question Number : 74 Question Id : 8643512594 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The line 2x —y+1=0 is a tangent to the circle at the point (2, 5) and the centre of the circle

lies on x — 2y =4. Then, the radius of the circle is :

Options :

8643517793. 53
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8643517794, N4

8643517795, 45

345

8643517796.

Question Number : 74 Question Id : 8643512594 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2x—y+1=0 Q0w Teedodw, (2,5) VOWITLYT [T ARFTDNT DB [T SCOTH)
x—2y=4 20w Sedod HedFT, © FIDT SR

Options :

8643517793, 53

IS\H

8643517794.
8643517795. 45

8643517796 V3

Question Number : 75 Question Id : 8643512595 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement about the two circles whose equations are given below :
x2+y?—10x— 10y +41=0 and

x2+y?—16x— 10y + 80=0

Options :

8643517797 Circles have two intersection points.

2643517798, Both circles pass through the centre of each other.

8643517799, Both circles’ centres lie inside region of one another.

8643517800, Distance between two centres is the average of radii of both the circles.
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Question Number : 75 Question Id : 8643512595 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
3 ] L . e e i 7 i 9 o ‘ } ; ot Fym 3 -
x*+y —10x—10y +41=0 2233 x“+y“—16x — 10y +80=0 20 Eﬁéﬁ_‘d Nﬂufﬁﬂﬁﬁﬁ
ROWORATOZ FYNT olpx Tewdodn BORY.
Options :
IINOR TR HeTT VOO,
8643517797.

HOBL RINY TIE0 FeoTNY DoR®T TIHBLRISE.
8643517798. &t " b ==

QATRR R[INYG FCOTNTL 2.0T0 YRSR.080 Seohnyd:s.
8643517799. P ~ < =

3eOTNY TWRT TRTFY STER FIT SRNY BTFOCITNIT.
8643517800.

Question Number : 76 Question Id : 8643512596 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The equation of the plane which contains the y-axis and passes through the point (1, 2, 3)
1S :

Options :

8643517801, X 1z=6

8643517802, X +3z=10

8643517803, X +3z=0

8643517804, X ~z=0

Question Number : 76 Question Id : 8643512596 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y-OTBT, weieoRDdE &2 (1, 2, 3) ROWAT MRVT TehIBeehom IO

TeResoe)
Options :
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Ax+z=6

8643517801
8643517802, X 13z=10

x+3z=0
8643517803,

8643517804, X —z=0

Question Number : 77 Question Id : 8643512597 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If the Boolean expression (p = q) < (q # (~p)) is a tautology, then the Boolean expression
p * (~q) is equivalent to :

Options :

=

e |
8643517805.

5
8643517806. 2 s

i)

8643517807. 17 P

8643517808. 1P

Question Number : 77 Question Id : 8643512597 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= q) < (q * (~p) @202 WRICHT ¢viodd IWITICIRTT p * (~q) RICDT evdn
BBRFERIR -
Options :

8643517805, F 4

8643517806. F — 4

q =P

8643517807.
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“L‘i — I_‘]

8643517808.

Question Number : 78 Question Id : 8643512598 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let a =2i ~3j +4kand b =7i + j — 6k.

It r xa=1rxb, 1 *; | 2; | ;( = -3, then r -[2';'. '5; | }_]isequalto:
Options :
8643517809. 8
8643517810. 10
12
8643517811.
8643517812, 1°

Question Number : 78 Question Id : 8643512598 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

— M

a=2i -3j +4k DR b =7i + j - 6k.

—

rxa=1xb®d® r-(i+2]+k =-3888 r-(2i -3 + k) mwIT@D.

» =

Options :
8643517809, ©

8643517810, 1V

12
8643517811. ~~

8643517812, 13

Question Number : 79 Question Id : 8643512599 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

Two dices are rolled. If both dices have six [aces numbered 1, 2, 3, 5, ¥ and 11, then the

prohabﬂit}-' that the sum of the numbers on the top faces is less than or equal to 8 is :

Options :
=
12
8643517813.
9
8643517814.
1

8643517815, 36

1
8643517816, 2

Question Number : 79 Question Id : 8643512599 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Q0T m@;’ﬁ@ém% PUTNPAD. QUBRR DoPN% 6:00NY e 1,2,3,5,7 a&; 11 0w
@oﬁne;m% WOOLRAT., TomTo &Etﬁaﬂmm% QTBR WENT LONT DRI 8 wFwme 8

303 3ROIRMY, BoPHeoDI0R !

Options :

'5
2
8643517813.
4
8643517814, 2
17
8643517815, 36

1
8643517816, 2

Question Number : 80 Question Id : 8643512600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
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Correct Marks : 4 Wrong Marks : 1

f ) f
” . . : | L
The sum of possible values of x for tan 1{1’ +1) + cot 1| |= tan 1| fl is :
\ L _2'

x—1)

Options :

8643517817. 4

8643517818, 4

8643517819.

8643517820, &

Question Number : 80 Question Id : 8643512600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

'
\|=taru 1|i_x| s e ee STIne 13 BEne Bed:
X 1, 31 ) . 5 =

s
tan !(x + 1) + cot 1|

Options :

33
8643517817. 4

32
8643517818. 4

31

8643517819. 4

30
8643517820. =
Mathematics Section B
Section Id : 864351174
Section Number : 6
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Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 864351174
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 8643512601 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The maximum value of z in the following equation z=6xy 1 L.rzr where 3x+4y = 100 and

4x+3y = 7D forx 2 0andy = 0is __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 81 Question Id : 8643512601 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

3x+4y = 100 m&; Ax+3y =75, x = UI:L“E;.; y = 08Ten z=6xy- 2 Benedoed z o ﬁﬂ?ﬂ

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 82 Question Id : 8643512602 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

10

If A= { 1] , then the value of dnL{A‘i_‘J b det| Al0 (Adj(2A)) ].I is equal to _

0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
82/89
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Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 82 Question Id : 8643512602 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

. ¢ : :
A= [a :] sT3 dgerds (AY) + dgerds (A0 (Adj(2A))0) =
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 83 Question Id : 8643512603 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If (2021)%%2 is divided by 17, then the remainder is ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 83 Question Id : 8643512603 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

{2['}21]3“521‘:\&1? oo oNamen whad Jedm)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643512604 Question Type : SA
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Correct Marks : 4 Wrong Marks : 0

cos(sinx) — cosx

.1'4

If the function f(x)= is continuous at each point in its domain and

£(0) = % thenk is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 84 Question Id : 8643512604 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ORI RIHE) — RN | e oo i s sugis s T g 1
f(x) = ( i Q00 I, 83T T WoDATLY SQWZFND, f(0) = s

)

swen kod 2dodn
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 85 Question Id : 8643512605 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If [ - ] represents the greatest integer function, then the value of

[%;
_[ [[12] cosx} slx| is -

0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

84/89



3/17/2021

100

Question Number : 85 Question Id : 8643512605 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

VF
[-] @00t row Bemeros ev3zTNGT, [x2] - cosx | dx| 3 3¢5
Utl [T (]
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643512606 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The minimum distance between any two points I, and P, while considering point P; on one

circle and point P'2 on the other circle for the given circles’ equations
x2+y2—-10x— 10y +41=0
x2 4 yz 24x - 10y +160=0 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 86 Question Id : 8643512606 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Py 200m w.0m JEE HedWT WOWTIT, Py 2020m BIROD 33T D0edT
RoeRNG. TeMUl P, @H3) P,R0mnentia 3% SRl

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText
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Possible Answers :

100

Question Number : 87 Question Id : 8643512607 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[f the equation of the plane passing through the line of intersection of the planes
2x -7y +4z-3=0, 3x—5y+4z+11=0 and the point (—2, 1, 3) is ax +by+cz—7=0, then

the value of 2Za+b+c—7 is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 87 Question Id : 8643512607 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
ax+by +cz —7=020000 AFPIVT AWCFOLZONGR, & W20 7y +4z-3=0 DD
3x -5y t+4z+11=0 200 FMIONYI, FOWT TeLlNY WROT TWIRTT PR
(—2, 1,3) 2othasd =SNo0030xp TehdEremon 2atb+c—-78 BSoin

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
Possible Answers :

100

Question Number : 88 Question Id : 8643512608 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Let there be three independent events E » E2 and Ea' The probability that only E | occurs is a,
only E, occurs is 5 and only E; occurs is v. Let “p’ denote the probability of none of events
occurs that satisfies the equations (a—2B)p=af and (B —3y)p=2py. All the given

probabilities are assumed to lie in the interval (0, 1).

Pr obability of occurrence of E;

Then, is equal to

Probability of occurrence of Eq
Response Type : Numeric
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100

Question Number : 88 Question Id : 8643512608 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Ej, E,a03 Ey R :gz;og FuRNNN. Fe0 E, FLmoh o5 ZogmacohIon «,
e E, PLIROWD ROPIMWE AOFPDACORNICIW f Tone Iexw E; FLHon Topdzmz
ROF[REONI0N ySNT. p’ Q0T CIPTC PLIWOAIN ITFOLT ROLITE ORI TN,
(a—2B)p=af @ (B—3v)p=2ByR00 RRCTTLNTR, SATBAIT. QTR FOFPBRCORIN

2
e
L

e
b}
[
+i
£
&
£l
2
[
i
£l
2
L1
&)
£
Gl

(0, 1) woSTevruodom FRIATT, : T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643512609 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

_ 1-22)
If f(x =sm{cns 1[—‘
f(x) k 1 4 2?—1}

!

o i T K J b
and its first derivative with respect to x is —]ngE 2 when
a
J

s . w 2 Vo«
x=1, where a and b are integers, then the minimum value of |a*—b“| is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 89 Question Id : 8643512609 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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Iy LW
f(x) = sin| cos 1{— DR, H IFT BeTo AFSIo i wdRTN, x=1

- 2x
1+ 2% )

\

soon glnge 2 (39 a B bied Jemerone) uTY [a2- 123 80F B3¢
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643512610 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If a =ai +Bj +3k,

b = [ﬂ-fr rx._;‘: L and

such that a - b =1 and E " E} — —13, then %[{: " ;j , ;] is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 90 Question Id : 8643512610 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
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a =ai +pj +3k,

b = [:’;I t‘:;l' k D3

&

ra
I
ks

2a-b=1R b - e B

A T G
= -3 e S ( M
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText
Possible Answers :

100
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